| dE/dx estimator 1 | | dE/dx estimator 2 |

h_dedx_estim1 h_dedx_estim2
: : : : : : Entries 490 C : : : : : : Entries 490
0.3 eereerieees = [ e Mean 3.003 035_— ------------ pree Mean 2.889
o Std Dev 0.9406 L Std Dev 0.7921
C o Coo S
L : : : : : h_dedx_estim1 0.3t e P h_dedx_estim2
025_ """ i AR io---e-i-eo| Entries 490 r : : : : : Entries 490
I : : : ¢ | Mean 3.003 - Mean 2.889
o Std Dev_ 0.9406 0.25 I S S S R Std Dev 0.7921
I N | r : : : |
0'2_ """ h dedx estm1 C h_dedx_estim2
- Entries 490 0 2‘_ ____________________________________________ Entries 490
K : : : : : [ Mean 3.003 = Mean 2.889
0.15--5remreeieeenns N Sthev 09406 C Sthev 07921
oo S I - I
N h dedx estimL O R e e I IR AR AR h dedx estim2
o : : : : : Entries 490 r Entries 490
01__ """ AN AR Pttt Mean 3.003 - Mean 2.889
Co s Ryt [ sidbey 0.9406 (01| sulas SEEEEEE IS B IRE A toeeeet| Sid Dev 0.7921
- : : : | - : : : |
0.05 T A h_dedx_estiml r h_dedx_estim2
OL Entries 490 0.05 Entries 490
B Mean 3.003 - Mean 2.889
;l- : : : : Std Dev 0.9406 C Std Dev 0.7921
OJ"\'O |!| |.| |.| |:| 4 hlllllll!llll!lll OJ-\-Q-F ! !::::!::::!:::
= H s s s s ] : ] : : = I :
© 1 ] @© 1 :
o I : o 1 :
1 S RER EEEEEEEEETE 4 1 R RLELEEI T -
0.95' i i i i i i i i i 0.95' i i i i i i i i i
0 1 2 3 4 5 6 7 8 9 10 0 1.2 3 4 5 6 7 8 9 10
dE/dx, harm2 dE/dx, trunc40
—=— DQM_V000I R0O00000001 _Gfobal __mRKFEtI0000
—e— DOM~"V0001_R000000001_Global—_mkFit1000 _RECO
— D M_V0001_R000000001_GIobal_mkFlthOOKTlme RECO
—— DOM~V0001"R0O00000001Global——mkFit1000CTime__RECO satl
e D M‘VOOOl R000000001Global—mkFit1000MTime— RECO =
H T T T T ENTIes 290 U a0 T T TTENTES 490
0.12p -t foeaeees frocasees foo " Mean 10.13 a : : : : [ Mean 0.9612
. . . . .| Std Dev 4. 74]|. O 4 E ______ e, R L. L. Std Dev 1.067|
: : : : : : : TR : : : : : : : :
0.1k H | . L L L L h dedx_ noml G ; ; ; ; ; h_dedx_satl
i : : : : : | Entries 490 0_35 ------ e e e e :-| Entries 490
: : : : : * | Mean 10.13 X : : : : * | Mean 0.9612
L : : : : : | Std Dev 4.741 0 31 _______ o o o o : |.Std Dev 1.067
0.08f £ |- S S S S ST S ] SE
: : : : : h_dedx_nom1 - : : : : : h dedx_: satl
Entries 490 0.25H - Feeeeeee boeeenee b e .| Entries 490
- : : : | Mean 10.13 o : : : : | Mean 0.9612
0.06(H]¢ |- RRARAREE P e | std Dev 4741 0 25: : : : : : | std Dev 1.067
- : : : : : h dedx_| noml E : : : : : h_dedx_satl
e i L | M 7 S e s e { R
j : : : : ¢ | Std Dev 4.741 I Std Dev 1.067
: : : ] R A N A P P 1
I 1 O S S h_dedx_nom1 - h_dedx_satl
0.02 Entries 490 "'_ Entries 490
13 . : . . . | Mean 10.13 = Mean 0.9612
d : : : : : |std Dev 4.741 - : : : : : |std Dev 1.067
OJ--L»Q .||||||||||||||||||I||||I||||I OL-UO A I PP BT IEEPIPE B ererars: srorerers srerarers
= [ | [ S S S S S = o
© I © [
x [ x
lu.
0.95 [ i i i i i i i 0.95 [ i i i i i i i i
0O 10 20 30 40 50 60 70 80 0 10 20 30 40 50 60 70 80

dE/dx number of measurements dE/dx number of measurements with saturation



	Contents
	Page 1


